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10000cm? = 1m?

(1) 150000cm? = 15m?
(2) 16m? = 160000cm?
(3) 270000cm? = 27m?
(4) 43m?2 = 430000cm?
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360 x 210 + 2 x & = 25200(m?) = 2.52( ha)
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(240 + 30) x (180 + 30) — 240 x 180 = 13500(m?2) = 135(a)
= 13500 = 135a
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(18.5+21.1) —2.4x 7 =39.6 — 16.8 = 22.8( ha)
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= 1600 x 450 + 2 — 800 x 225 + 2

= 360000 — 90000 = 270000( m?)

270000m? = 2700a = 27 ha
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265 x 130 = 34450( m2)
— 344.5a




(130 + 160) x 120 + 2 = 17400( m?) = 1.74( ha)
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=95 x 60 = 5700m> = 57a
12.54t = 12540kg
1a 9] 27| = 12540 + 57 = 220kg
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400m?2 = 4a O|BE =2
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26 x 250 = 6500(kg) = 6.5(t)




